Transforming coordinates

» Polar to Cartesian

(r, 0) — (2, y)

r =rcost y =rsinf
» Cartesian to Polar

(z, y) — (r, 0)

r=1z2+y2 0 = tan! <%>+/6’W keZ
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Drawing a parametric curve

v

Calculate the derivatives

v

Look for zeros

v

Calculate the values of well chosen points

v

Interval of the parameter
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Some curves: typical expressions

» Circle
z(t) = Rcost, y(t) = Rsint r(t) =R, 0(t)=t
> Ellipse
x(t) =acost, y(t) =bsint
» Spiral

x(t) =tcost, y(t)=tsint r(t)y=t, 0(t)=t
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Question 1

Dr Jean Charpin MA4414



Question 2
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Question 3(1)
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Question 3(2)

Dr Jean Charpin MA4414



Dr Jean Charpin MA4414



Question 5(1)
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Question 5(2)
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